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SECTION – A

Question ID : 100001

Function

1. The number of functions, f : {1, 2, 3, 4}  {1, 2, 3, 4, 5, 6} such that f(1) + f(2) = f(3), is equal to :

Qyuksa f : {1, 2, 3, 4}  {1, 2, 3, 4, 5, 6}, ftuds fy, f(1) + f(2) = f(3) gS, dh dqy la[;k gS :

(1) 60 (2) 90 (3) 108 (4) 126

Ans. Official Answer NTA (2)

Sol. A = {1, 2, 3, 4}

B = {1, 2, 3, 4, 5, 6}

Here f(3) can be 2, 3, 4, 5, 6

f(3) = 2, (f(1), f(2))  (1,1)  6 cases

f(3) = 3, (f(1), f(2))  (1,2), (2,1)

 2 × 6 = 12 cases

f(3) = 4, (f(1), f(2))  (1,3), (3,1), (2,2)

 3 × 6 = 18 cases

f(3) = 5, (f(1), f(2))  (1,4), (4,1), (2,3), (3,2)

 4 × 6 = 24 cases

f(3) = 6, (f(1), f(2))  (1,5),(5,1),(2,4),(4,2),(3,3)

 5 × 6 = 30 cases

Total number of cases = 6+ 12 + 18 + 24 + 30 = 90

Question ID : 100002

Complex Number

2. If , , ,  are the roots of the equation x4 + x3 + x2 + x + 1 = 0, then 2021 + 2021 + 2021 + 2021 is equal to

:

;fn lehdj.k x4 + x3 + x2 + x + 1 = 0 ds ewy , , ,  gSa] rks 2021 + 2021 + 2021 + 2021 cjkcj gSa% :

(1) –4 (2) –1 (3) 1 (4) 4

Ans. Official Answer NTA (2)

Sol. x4 + x3 + x2 + x + 1 = 0 OR   
5x 1

0 x 1
x 1


 



So roots are  i2 /5 i4 /5 i6 /5 i8 /5e ,e ,e ,e   

i.e. , ,  and 

From properties of nth root of unity
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12021 + 2021 + 2021 + 2021 + 2021 = 0

2021 + 2021 + 2021 + 2021 = –1

Question ID : 100003

Complex Number

3. For n  N, let 
n

n
S z C : z 3 2i

4

 
     

 
 and 

n

1
T z C : z 2 3i

n

 
     

 
. Then the number of elements

in the set {n  N : S
n
  T

n
 = } is :

n  N ds fy,, 
n

n
S z C : z 3 2i

4

 
     

 
 rFkk 

n

1
T z C : z 2 3i

n

 
     

 
 gSaA rks leqPp; {n  N : S

n
 

T
n
 = } esa vo;oksa dh la[;k gS :

(1) 0 (2) 2 (3) 3 (4) 4

Ans. Official Answer NTA (4)

Sol. n

n
S :| z (3 2i) |

4
    is a circle center C

1
 (3, –2) and radius n/4

n

1
T :| Z (2 3i) |

n
    is a circle center C

2
 (2, –3) and radius 1/n

Here  n nS T  

Both circles do not intersec each other

Case-1 :  1 2C C n / 4 1/ n 

n 1
2

4 n
 

then n = 1, 2, 3, 4

Case-2 :  1 2

n 1
C C

4 n
 

2n 4
2

4n


 

 n has infinite solutions for nN

Question ID : 100004

Determinant

4. The number of  (0, 4) for which the system of linear equations

varjky (0, 4) esa ds ekuksa ftuds fy, jSf[kd lehdj.k fudk;

3 (sin 3) x – y + z = 2

3 (cos 2) x + 4y + 3z = 3
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6x + 7y + 7z = 9

has no solution, is :

dk dksbZ gy ugha gS] dh la[;k gS :

(1) 6 (2) 7 (3) 8 (4) 9

Ans. Official Answer NTA (2)

Sol. The system of equation has no solution.

3sin 3 1 1

D 3cos 2 4 3 0

6 7 7

 

  

21 sin 3 + 42 cos 2 – 42 = 0

sin 3 + 2 cos 2 – 2 = 0

Number of solution is 7 in (0,4)

Question ID : 100005

Limit

5. If   2

n
lim n n 1 n 0


      , then 8( + ) is equal to :

;fn   2

n
lim n n 1 n 0


      gS, rks 8( + ) cjkcj gS :

(1) 4 (2) –8 (3) –4 (4) 8

Ans. Official Answer NTA (3)

Sol.  2

n
lim n n 1 n 0


     

2n

1 1
lim 1 0

n n n

 
      

 

1  
Now,

1/2

2n

1 1
lim n 1 1 0

n n n

    
       
    
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2

n

1 1 1
1 ..... 1

2 n n n
lim 0

1

n



   
      

   

1
0

2
 

1

2
 

Now,   
1

8 8 4
2

 
      

 

Question ID : 100006

Maxima & Minima

6. If the absolute maximum value of the function f(x) = (x2 – 2x + 7) 
 3 24x 12x 180x 31

e
  

 in the interval [–3, 0] is f(),

then :

;fn varjky [–3, 0] esa Qyu f(x) = (x2 – 2x + 7) 
 3 24x 12x 180x 31

e
  

 dk fujis{k mPPkre eku f() gS, rks :

(1)  = 0 (2)  = –3 (3)  (–1, 0) (4)  (–3, –1]

Ans. Official Answer NTA (2)

Sol.
    

3 24x 12x 180x 31 2f '(x) e 12 x 2x 7 (x 3)(x 5) 2(x 1)
  

      

for x [ 3,0] 

f'(x) 0 

f(x) is decreasing function on [–3, 0]
The absolute maximum value of the function f(x) is at x = – 3

3   

Question ID : 100007

7. The curve y(x) = ax3 + bx2 + cx + 5 touches the x-axis at the point P(–2, 0) and cuts the y-axis at the point Q,

where y’ is equal to 3. Then the local maximum value of y(x) is :

oØ y(x) = ax3 + bx2 + cx + 5, x-v{k dks fcUnq P(–2, 0) ij Li”kZ djrk gS rFkk y-v{k dks fcUnq Q ij y’ dk eku 3

gSA rks y(x) dk LFkkuh; mPPkre eku gS :

(1) 
27

4
(2) 

29

4
(3) 

37

4
(4) 

9

2

Ans. Official Answer NTA (1)
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Sol. y(x) = ax3 + bx2 + cx + 5 is passing through

(-2,0) then 8a – 4b + 2c = 5........(1)

y’(x) = 3ax2 + 2bx + c touches x-axis at (-2,0)

12a – 4b + c = 0 ........(2)

again, for x = 0, y’(x) = 3

c = 3              .........(3)

Solving eq. (1), (2) & (3) 
1 3

a , b
2 4

   

23 3
y '(x) x x 3

2 2
   

y(x) has local maxima at x = 1

27
y(1)

4


Question ID : 100008

Area Under Curve

8. The area of the region given by A = { (x, y) : x2  y  min{x + 2, 4 – 3x} is :

A = {(x, y) : x2  y  min{x + 2, 4 – 3x} }kjk fn, x, {ks= dk {ks=Qy gS :

(1) 
31

8
(2) 

17

6
(3) 

19

6
(4) 

27

8

Ans. Official Answer NTA (2)

Sol.     2A x, y : x y min x 2, 4 3x    

So area of requierd region
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   
1

12
2 2

11

2

A x 2 x dx 4 3x x dx


       

1
12 3 2 32

1
1

2

x x 3x x
2x 4x

2 3 2 3


   
        

   

1 1 1 1 3 1 3 1
1 2 1 2

8 24 2 3 2 3 8 24

     
                
     

17

6


Question ID : 100009

Definite Integration

9. For any real number x, let[x] denote the largest integer less than equal to x. Let f be a real valued function

defined  on  the  interval  [–10,  10]  by   
   

   
x x , if x is odd

f x
1 x x, if x is even

 
 

 
.  Then  the  value  of

 
102

10

f x cos x dx
10




  is :

fdlh okLrfod la[;k x ds fy,] ekuk [x] egÙke iw.kkZad  x gSA ekuk varjky [–10, 10] esa ,d okLrfod eku Qyu

 
   

   
x x , x

f x
1 x x, x

 
 

 

; fn fo"ke gS

; fn le gS
 }kjk ifjHkkf”kr gSA rks    

102

10

f x cos x dx
10




  dk eku gS :

(1) 4 (2) 2 (3) 1 (4) 0

Ans. Official Answer NTA (1)

Sol.
{x} , 2n 1 x 2n

f (x)
1 {x} , 2n x 2n 1

  
 

   

Clearly f(x) is a periodic function with period = 2

Hence f(x) . cos x is also periodic with period = 2

2 10 2 1
2 2

10 0 0
f (x)cos( x)dx f (x)cos( x) dx ((1 {x}) { x})cos( x)dx

10 


            

11
2 2 2

2 2
0

0

x sin x cos x 2
2 ( x cos x)dx 2 2 4

    
                    

Question ID : 100010
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Definite Integration

10. The slope of the tangent to a curve C : y = y(x) at any point (x, y) on it is 
2x x

2x

2e 6e 9

2 9e





 


. If C passes through

the points 
1

0,
2 2 2

 
 

 
 and  21

, e
2

 
 

 
, then e is equal to :

oØ  C : y = y(x) ds fdlh fcUnq (x, y) ij Li”kZ js[kk dh izo.krk 
2x x

2x

2e 6e 9

2 9e





 


gSA ;fn C, fcUnqvksa 

1
0,

2 2 2

 
 

 

rFkk  21
, e
2

 
 

 
ls gksdj tkrk gS] rks e cjkcj gS :

(1) 
3 2

3 2




(2) 

3 3 2

2 3 2

 
   

(3) 
1 2 1

2 2 1

 
   

(4) 
2 1

2 1





Ans. Official Answer NTA (2)

Sol.
2x x

2x

dy 2e 3e 9

dx 2 9e





 




x
2x

2x

dy 6e
e

dx 2e 9
 



2x x
1e 2e

y tan c
2 3


 

    
 

If C passes through the point 
1

0,
2 2 2

 
 

 

1 2
c tan

4 3


  

Again C passes through the point 
21

, e
2

 
 

 

then 
3 3 2

e
2 3 2


 

    

Question ID : 100011

Differential Equation
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11. The general solution of the differential equation (x – y2)dx + y(5x + y2)dy = 0 is :

vody lehdj.k (x – y2)dx + y(5x + y2)dy = 0 dk O;kid gy gS :

(1) (y2 + x)4 = C|(y2 + 2x)3| (2) (y2 + 2x)4 = C|(y2 + x)3|

(3) |(y2 + x)3| = C(2y2 + x)4 (4) |(y2 + 2x)3| = C(2y2 + x)4

Ans. Official Answer NTA (1)

Sol.    2 2x y dx y 5x y dy 0   

2

2

dy y x
y

dx 5x y






Let y2 = t

1 dt t x
.

2 dx 5x t






Now substitute, t = vx

dt dv
v x

dx dx
 

1 dv v 1
v x

2 dx 5 v

 
  

 

2dv 2v 2 3v v 2
x v

dx 5 v 5 v

   
  

 

2

5 v dx
dv

v 3v 2 x


   

 

4 3 dx
dv dv

v 1 v 2 x
      

 

4 ln |v +1| – 3 ln |v + 2| = –ln x +ln C

4

3

(v 1) C

(v 2) x






42

32

y
1

x C

xy
2

x

 
 

  
 

 
 

   
4 32 2y x C y 2x  

Question ID : 100012
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Straight Line

12. A  line,  with  the  slope  greater  than  one,  passes  through  the  point A(4,  3)  and  intersects  the  line

x – y – 2 = 0 at the point B. If the length of the line segment AB is  29

3
, then B also lies on the line :

,d j s[ k k ,  ftldh i zo. kr k ,d l s vf / kd g S ]  fc Un q   A(4,  3)  l s gk sdj tkrh g S  rF k k  j s[ k k

x – y – 2 = 0 dks fcUnq B ij dkVrh gSA ;fn js[kk[kaM AB dh yackbZ  29

3
 gS, rks fcUnq fuEu eas ls fdl js[kk ij Hkh fLFkr

gS :

(1) 2x + y = 9 (2) 3x – 2y = 7 (3) x + 2y = 6 (4) 2x – 3y = 3

Ans. Official Answer NTA (3)

Sol. Let   1 1B x , x 2

   
2 2

1 1

29
x 4 x 2 3

3
    

Squaring on both side
2

1 118x 162x 340 0  

1

51
x

9
          or 1

10
x

3


1

33
y

9
          or 1

4
y

3


Option (C) will satisfy 
10 4

,
3 3

 
 
 

Question ID : 100013

Circle

13. Let the locus of the centre (, ),  > 0, of the circle which touches the circle x2 + (y – 1)2 = 1 externally and

also touches the x-axis be L. Then the area bounded by L and the line y = 4 is :

ekuk ,d o`Ùk] tks o`Ùk x2 + (y – 1)2 = 1 dks ckâkr% Li”kZ djrk gS rFkk x - v{k dks Hkh Li”kZ djrk gS] ds dsUnz (, ),

 > 0 dk fcUnqiFk L gSA rks L rFkk js[kk y = 4 }kjk ifjc) {ks= dk {ks=Qy gS :

(1) 
32 2

3
(2) 

40 2

3
(3) 

64

3
(4) 

32

3

Ans. Official Answer NTA (3)

Sol. ( – 0)2 + ( – 1)2 = ( + 1)2

2 = 4
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x2 = 4y

2
4
0

x 64
A 2 4 dx

4 3

 
    

 

Question ID : 100014

3D Geometry

14. Let P be the plane containing the straight line  x 3 y 4 z 7

9 1 5

  
 

 
 and perpendicular to the plane containing

the straight lines 
x y z

2 3 5
   and 

x y z

3 7 8
  . If d is the distance of P from the point(2, –5, 11), then d2 is equal

to :

ekuk js[kk x 3 y 4 z 7

9 1 5

  
 

 
] lery P  esa fLFkr gS rFkk lery P, js[kkvksa 

x y z

2 3 5
   rFkk 

x y z

3 7 8
   dks

varfoZ’V djus okys lery ds yacor gSA ;fn P dh fcUnq (2, –5, 11) ls nwjh d gS] rks d2 cjkcj gS :

(1) 
147

2
(2) 96 (3) 

32

3
(4) 54

Ans. Official Answer NTA (4)

Sol. Let <a, b, c> be direction ratios of plane containing

lines 
x y z

2 3 5
   and 

x y z

3 7 8
  .

  2a + 3b + 5c = 0 .......(i)

and 3a + 7b + 8c = 0 .......(ii)

from eq. (i) and (ii) : 
a b c

24 35 15 16 14 9
 

  

  D.RS. of plane are < 11, 1, –5>

Let D.RS of plane P be <a
1
, b

1
, c

1
> then.

11a
1 
+ b

1
 – 5c

1
= 0 .......(iii)

and 9a
1 
– b

1 
– 5c

1 
= 0 .......(iv)

From eq. (iii) and (iv) :

1 1 1a b c

5 5 45 55 11 9
 

     

  D.A5. of plane P are < 1, –1, 2>

Equation plane P is : 1(x –3) –1(y + 4) +2(z – 7) = 0

  x – y + 2z – 21 = 0
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Distance from point (2, –5, 11) is 
| 2 5 22 2 |

d
6

  


2 32
d

3
 

Question ID : 100015

Vectors

15. Let ABC be a triangle such that BC a
 

, CA b
 

, AB c
 

,  a 6 2


,  b 2 3


 and b.c 12
 

. Consider

the statements :

(S1) :       a b c b c 6 2 2 1     
   

(S2) :  1 2
ACB cos

3


 
    

 

Then :

(1) Both (S1) and (S2) are true (2) Only (S1) is true

(3) Only (S2) is true (4) Both (S1) and (S2) are false

ekuk ,d f=Hkqt  ABC ds fy, BC a
 

, CA b
 

,  AB c
 

,  a 6 2


,  b 2 3


 rFkk  b.c 12
 

gSa :

dFkuksa %

(S1) :       a b c b c 6 2 2 1     
   

(S2) :  1 2
ACB cos

3


 
    

 

esa  :

(1) (S1) rFkk (S2) nksuksa lR; gSa (2) dsoy (S1) lR; gSa

(3) dsoy (S2) lR; gS (4) nksuksa (S1) RkFkk(S2) vlR; gSa

Ans. Official Answer NTA (4)

Sol. a b c 0  
  

b c a  
  

2 2 2| b | | c | 2b c | a |   
    

2| c | 36


| c | 6


 S1:| a b c b | | c |   
    
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| (a c) b | | c |  
   

| b b | | c |  
  

0 6 6  

 S2 : a b c 0  
  

b c a  
  

2 2 2| a | | b | 2 | a || b | cos( ACB) | c |   
    

2
cos( ACB)

3
 

Question ID : 100016

Probability

16. If the sum and the product of mean and variance of a binomial distribution are 24 and 128 respectively, then the

probability of one or two successes is :

;fn ,d f}in caVu ds ek/; rFkk izlj.k ds ;ksx vkSj xq.kuQy Øe”k% 24 rFkk 128 gSa] rks ,d ;k nks lQyrkvksa dh

izkf;drk gS :

(1)  32

33

2
(2)  29

33

2
(3)  28

33

2
(4)  27

33

2

Ans. Official Answer NTA (3)

Sol. np + npq = 24 .......(1)

np . npq = 128 .......(2)

Solving (1) and (2) :

We get 
1 1

p ,q , n 32.
2 2

  

Now,

P(X = 1) + P(X = 2)

= 32C
1
 pq31 + 32C

2
 p2 q30

28

33

2


Question ID : 100017

Probability

17. If the numbers appeared on two throws of a fair six faced die are  and , then the probability that

x2 + x +  > 0, for all x  R, is :

;fn N% Qydksa ds ,d U;kl ikls dks nks ckj Qsadus ij izdV gksus okyh la[;k,¡  rFkk gSa,  rks lHkh x R ds fy,
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x2 + x +  > 0 gksus dh izkf;drk gS :

(1) 
17

36
(2) 

9

4
(3) 

1

2
(4) 

19

36

Ans. Official Answer NTA (1)

Sol. For x2 + x +  > 0  xR to hold, we should have 2 – 4 < 0

If  = 1,  can be 1, 2, 3, 4, 5, 6 i.e., 6 choices

If  = 2,  can be 2, 3, 4, 5, 6 i.e., 5 choices

If  = 3,  can be 3, 4, 5, 6 i.e., 4 choices

If  = 4,  can be 5 or 6 i.e., 2 choices

If  = 6, No possible value for  i.e., 0 choices

Hence total favourable outcomes

= 6 + 5 + 4 + 2 + 0 + 0

= 17

Total possible choices for  and  = 6 × 6 = 36

Required probability 
17

36


Question ID : 100018

Trigonometric Equation

18. The number of solutions of |cos x| = sin x,  –4  x  4 is :

lehdj.k  |cos x| = sin x,  –4  x  4 ds gyksa dh la[;k gS :

(1) 4 (2) 6 (3) 8 (4) 12

Ans. Official Answer NTA (3)

Sol.

  |cos x| is periodic will period  and sinx is periodic with 2
and as shown in figure |cosx| = sinx is having 2 solutions

  Total number of solution of the equation |cosx| = sinx is [-4, 4] is equal to 4 5 2 = 8

Question ID : 100019

Heights & Distances

19. A tower PQ stands on a horizontal ground with base Q on the ground. The point R divides the tower in two
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parts such that QR = 15m. If from a point A on the ground the angle of elevation of R is 60° and the parts PR

of the tower subtends an angle of 15° at A, then the height of the tower is :

,d Vkoj  PQ ,d {kSfrt ij [kM+k gSA Vkoj dk vk/kkj Q /kjkry ij gSA fcUnq R, Vkoj dks nks Hkkxksa esa ck¡Vrk gS tcfd

QR = 15 ehVj gSA ;fn /kjkry ij ,d fcUnq  A  ls R dk mUUk;u dks.k 60º gS] rFkk Vkoj dk Hkkx PR, fcUnq A ij 15°

dk dks.k cukrk gS] rks Vkoj Å¡pkbZ (ehVj esa) gS:

(1)   5 2 3 3 m (2)   5 3 3 m

(3)   10 3 1 m (4)   10 2 3 1 m

Ans. Official Answer NTA (1)

Sol.

15
tan 60º

AQ
 .....(1)

15 x
tan 75º

AQ


 ......(2)

(1)
x 10 3

(2)
 

So,   PQ 5 2 3 3 m 

Question ID : 100020

Mathematical Reasoning

20. Which of the following statements is a tautology?

fuEu dFkuksa esa dkSulk iqu#fDr gS ?

(1) ((~p)  q)  p (2) p  ((~p)  q)

(3) ((~p)  q)  q (4) q  ((~p)  q)

Ans. Official Answer NTA (4)
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Sol. Truth Table

p q p q ( p) q (( p) q) p p (( p) q) ( p) q q q (( p) q)

T T F F T T T T T

T F F T F T F T T

F T T F T F T T T

F F T T T F T F T

              

SECTION – B

Question ID : 100021

Complex Number

21. Let 

2 1 1

A 1 0 1

1 1 0

  
 

  
  

  and  B  = A  –  I.  If  3i 1

2


  ,  then  the  number  of  elements  in  the  set

    nnn 1,2,....,100 : A B A B      is equal to ___________.

ekuk 

2 1 1

A 1 0 1

1 1 0

  
 

  
  

 rFkk B = A – I gSaA ;fn 3i 1

2


   gS, rks     nnn 1,2,....,100 : A B A B     gS]

esa vo;oksa dh la[;k gS ________A

Ans. Official Answer NTA (17)

Sol.
2 n

2 1 1

A 1 0 1 A A A A.

1 1 0

  
       
  

n {1, 2,.....,100} 

Now, 

1 1 1

B A I 1 1 1

1 1 1

  
      
   

     B2 = –B
 B3 = –B2 = B
 B5 = B
 B99 = B
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Also, 3k = 1
So, n = common of {1, 3, 5, ., 99} and

{3, 6, 9, ., 99} = 17

Question ID : 100022

P & C

22. The letters of the word ‘MANKIND’ are written in all possible orders and arranged in serial order as in an

English dictionary. Then the serial number of the word ‘MANKIND’ is ___________.

“kCn ‘MANKIND’ ds v{kjksa dks lHkh laHko Øeksa eas fy[kk tkrk gS rFkk vaxzsth “kCndks”k dh rjg Øekuqlkj O;ofLFkr

fd;k tkrk gSA rks ‘MANKIND’ dh Øe la[;k gS ___________A

Ans. Official Answer NTA (1492)

Sol. M A N K I N D

         
4 6! 4! 3

5! 0 3! 2 2! 1 1! 1 0! 0 1 1492
2! 2!

    
               

   

Question ID : 100023

Binomial Theorem

23. If the maximum value of the term independent of t in the expansion of 
 

151
1 10

2 5
1 x

t x , x 0
t

 
  

  
 

, is K, then

8 K is equal to ___________.

;fn 
 

151
1 10

2 5
1 x

t x , x 0
t

 
  

  
 

 ds izlkj t ls Lora= in dk vf/kdre K gS, rks 8 K cjkcj gS _________.

Ans. Official Answer NTA (6006)

Sol. General Term = 

r1
15 r1 10

2 5
r

(1 x)
15C t x

t

  
   
   
   

 

for tem independent on t
2(15 – r) – r = 0
 r = 10

15
11 10T C x(1 x)  

Maximum value of x (1 – x) occur at 
1

x
2


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i.e.,  max

1
(x(1 x))

4
 

15
10

1
K C

4
  

 15
108K 2 C 6006  

Question ID : 100024

Sequence & progression

24. Let a, b be two non-zero real numbers. If p and r are the roots of the equation x2 – 8ax + 2a = 0 and q and s

are the roots of the equation x2 + 12bx + 6b = 0, such that 
1 1 1 1

, , ,
p q r s

 are in A.P., then a–1 – b–1 is equal to

___________.

ekuk  a, b nks “kwU;sÙkj okLrfod la[;k,¡ gSaA ;fn lehdj.k x2 – 8ax + 2a = 0 ds ewy p ewy r gSa vkSj lehdj.k

x2 + 12bx + 6b = 0, ds ewy gS q rFkk s gSa] tcfd  
1 1 1 1

, , ,
p q r s

 A.P. esa gSa, rks a–1 – b–1 cjkcj gS __________A

Ans. Official Answer NTA (38)

Sol. x2 – 8ax + 2a = 0 x2 + 12bx + 6b = 0

p + r = 8a q + s = –12b

pr = 2a qs = 6b

1 1
4

p r
 

1 1
2

q s
  

2
4

q


2
2

r
 

1
q

2
 r = –1

1
p

5


1
s

4




Now, 
1 1 2 6

38
a b pr qs
   

Question ID : 100025

Sequence & progression

25. Let a
1
 = b

1
 = 1, a

n
 = a

n – 1
 + 2 and b

n
 = a

n
 + b

n – 1
 for every natural number n  2. Then 

15

n n
n 1

a .b

  is equal to

___________.
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ekuk a
1
 = b

1
 = 1 gSa rFkk izR;sd  n  2 ds fy, a

n
 = a

n – 1
 + 2 vkSj b

n
 = a

n
 + b

n – 1
 gSaA rks 

15

n n
n 1

a .b

  cjkcj gS

__________A

Ans. Official Answer NTA (27560)

Sol. a
1
 = b

1
 = 1

a
2
 = a

1
 + 2 = 3

a
3
 = a

2
 + 2 = 5

a
4
 = a

2
 + 2 = 7

 an = 2n – 1

b
2
 = a

1
 + b

1
 = 4

b
3
 = a

3
 + b

2
 = 9

b
4
 = a

4
 + b

3
 = 16

b
n
 = n2

15

n n
n 1

a b



 
15

2

n 1
2n 1 n


 

 
15

3 2

n 1
2n n


 

    
22n n 1 n n 1 2n 1

2
4 6

  
 

Put n = 15

2 225 16 16 15 16 31

4 6

    
 

= 27560

Question ID : 100026

Continuity & Differentiability

26.  
2 2

2 2

4x 8x 5 , if 8x 6x 1 0
f x

4x 8x 5 if 8x 6x 1 0

     
 

      

 where [] denotes the greatest integer less than or equal to

. Then the number of points in R where f is not differentiable is ___________.

ekuk  
2 2

2 2

4x 8x 5 , if 8x 6x 1 0
f x

4x 8x 5 if 8x 6x 1 0

     
 

      

 tgk¡ [] egÙke iw.kkZad gSA rks R esa mu fcUnqvksa dh la[;k]

tgk¡ f vodyuh; ugha gS] gS __________A



Question Paper With Text Solution (Mathematics)
JEE Main July 2022 | 25 July  Shift-1

Page No. 20

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Ans. Official Answer NTA (3)

Sol.

2 2

2 2

4x 8x 5 , if 8x 6x 1 0
f (x)

4x 8x 5 , if 8x 6x 1 0

     
 

      

2

2

1 1
4x 8x 5, if x , ,

4 2

1 1
4x 8x 5 if x ,

4 2

    
            

 
        

2 1 1
4x 8x 5 if x ,

4 2

1 2 2
f (x) 3 x ,

4 2

2 2 1
2 x ,

2 2


               


 

    
 


      

Non–diff at 
1 2 2 1

x , ,
4 2 2




Question ID : 100027

Definite Integration

27. If 
 

     
k 1

k 1n

n 1
lim nk 1 nk 2 ... nk n

n






        =33. 

k k k k

k 1n

1
lim . 1 2 3 ... n

n 
      ,  then  the

integral value of k is equal to ___________.

;fn
 

     
k 1

k 1n

n 1
lim nk 1 nk 2 ... nk n

n






        =33. 

k k k k

k 1n

1
lim . 1 2 3 ... n

n 
      gS a,  rks k dk
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iw.kkZad eku cjkcj gS __________A

Ans. Official Answer NTA (5)

Sol. LHS

 
k 1

k 1n

n 1
lim [nk.n 1 2 .... n]

n






   

   
k 1

2

k 1n

n 1 n n 1
lim . n k

n 2





  
  

 

 
k 1 2

k 1n

1
1

n
n 1 .n k

2

lim
n





  
  

   
 
 
 

n

1
1

1 n
lim 1 k

n 2

  
         

  
 
 

1
k

2

 
  

 

RHS

 k k k

k 1n

1 1
lim 1 2 .... n

n k 1
    



LHS = RHS

1 1
k 33.

2 k 1
  



 (2k + 1) (k + 1) = 66
 (k – 5) (2k + 13) = 0

 k = 5 or 
13

2


Question ID : 100028

Hyperbola

28. Let the equation of two diameters of a circle x2 + y2 – 2x + 2fy + 1 = 0 be 2px – y = 1 and 2x + py = 4p. Then

then slope m  (0, ) of the tangent to the hyperbola 3x2 – y2 = 3 passing through the centre of the circle is

equal to ___________.



Question Paper With Text Solution (Mathematics)
JEE Main July 2022 | 25 July  Shift-1

Page No. 22

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

ekuk ,d o`Ùk x2 + y2 – 2x + 2fy + 1 = 0 ds nks O;klksa ds lehdj.k 2px – y = 1 rFkk 2x + py = 4p gSaA rks vfrijoy;

3x2 – y2 = 3 dh ,d Li”kZ js[kk] tks o`Ùk ds dsUnz gksdj tkrh gS] dh izo.krk m  (0, ) cjkcj gS __________.

Ans. Official Answer NTA (2)

Sol. 2p + f – 1 = 0 ......(1)

2 – pf –4p = 0 ......(2)

2 = p(f + 4)

2
p

f 4




2p = 1 – f

4
1 f

f 4
 



f2 + 3f = 0

f = 0 or –3

Hyperbola 3x2 – y2 = 3, x2 – 
2y

3
 = 1

y = mx  2m 3 

It passes (1, 0)

o =  2m m 3 

m tends 

It passes (1, 3)

23 m m 3  

(3 – m)2 = m2 – 3

m = 2

Question ID : 100029

Parabola

29. The sum of diameters of the circles that touch (i) the parabola 75x2 = 64(5y – 3) at the point 
8 6

,
5 5

 
 
 

 and (ii)

the y-axis, is equal to ___________.

o`Ùkksa] tks (i) ijoy; 75x2 = 64(5y – 3) dks fcUnq 8 6
,

5 5

 
 
 

 ij rFkk (ii) y-v{k dks Li”kZ djrs gSa] ds O;klksa dk ;ksx gS

________A

Ans. Official Answer NTA (10)
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Sol.
2 64.5 3

x y
75 5

 
  

 

equation of tangent at 
8 6

,
5 5

 
 
 

6
y

8 64 35x
5 15 2 5

 
 

   
 
 

3x – 4y = 0

equation of family of circle is

 
2 2

8 6
x y 3x 4y 0

5 5

   
         

   

It touches y axis so f2 = c

2 2 16 12
x y x 3 y 4 4 0

5 5

   
            

   

2
12

4
5

4
4

 
  

  

2

5
   or 

8

5
  

2

5
  ,    r = 1

8

5
   ,  r = 4

d
1
 + d

2
 = 10

Question ID : 100030

3D Geometry

30. The line of shortest distance between the lines 
x 2 y 1 z

0 1 1

 
   and 

x 3 y 5 z 1

2 2 1

  
   makes an angle of

1 2
cos

27

 
  
 

 with the plane P : ax – y – z = 0, (a > 0). If the image of the point (1, 1, –5) in the plane P is (,

, ), then  +  –  is equal to ___________.

js[kkvksa  
x 2 y 1 z

0 1 1

 
   rFkk 

x 3 y 5 z 1

2 2 1

  
   ds chp U;wure nwjh dh js[kk] lery P : ax – y – z = 0,
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(a > 0) ls 1 2
cos

27

 
  
 

 dk dks.k cukrh gSA ;fn fcUnq (1, 1, –5) P esa izfrfcac (, , ) gS, rks  +  –  cjkcj gS

_________A

Ans. Official Answer NTA (3)

Sol. DR’s of line of shortest distance




i j k

0 1 1 i 2j 2k

2 2 1

   

 

 

angle between line and plane is 
1 2

cos
27

  

2

a 2 2 5
cos

3 34 4 1 a 1 1

  
  

   

23 | a | 5 a 2 

2 23a 25a 50 
No value of (a)


